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Use the order of operations to evaluate expressions
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e numbers and operation symbols to write verbal phrases as numerical expressions
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Evaluate expressions with variables using the order of operations
3 (1-12) 433
P 1 Cildaadl Caly plaswl Ol paiall O3 plasd! dasd sloxy)

Bb=94a=124 S 13 pusi JS dgd asyl

YU

1. 4+8.= B 2. 5+30 = 6=\ Y
Y+ 5

3.w-§l>+6 s Al tlec b

S b 14~ 5
5.3a-zs\0 _6.6b‘+3x9:8,
3% -2 X6 + 2
\2 -7 ol

€=1005,b=63,a= 0.4 (5 15 yueti JS dgd Ayl

8. c—a

Jbos_ 0 ?“9 65

9-@3—6 z0:3 0.0+0-b 1225

Mc-b+5 3,79 2G+btro-7]6.35




s Determine the common factors and the greatest common factor of a set of numbers (3-10) -
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5 Generate equivalent fractions by writing a fraction in simplest form (3-11) so1
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3 Add like fractions and solve word problems involving the addition of like fractions (3-11) 557
P1 Aglasall yguSIl gz oasaid I dxadSUI Plwal! J>-g dgoliiall HguS)l 2oz
Ry ¥ ‘h.u.oi 94 oo S iS) L ag)
3_%+%=_§:L 4.g_+_83_=%-;1 s.%+_g_:_}§_
3
pihpl b SR e AT | e, CHEED_ 7
7 7 6 6 = - 10 10 3 joud
7 6 2 lo
et Y _ I 3 . 1 Gl 4.5 7.
| | 7 Subtract like fractions and solve word problems involving the subtraction of like fractions (4-12) 563
P1 Agpliall y3uuS) b asals 1 A Bluaal Jovs Aoliall y3uuS ybo
a5_3__t_ 1 s 2_1_- \ 6 3_1- 12
6 6 é 3 3 3 3 5 5 5
w8 _ B | g N A jeb® Az _ |
7 7 7 9 9 y 2 8 8 g y
_\
0.3-3=2%— nZ-== 6 - 2i-2=2
¥y T2 = S




Use number sense and benchmark fractions to estimate sums and differences
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1 Evaluate expressions with variablesusing the order of operations (11-12) 440
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Graph points on a coordinate plane to solve real-world and mathematical problems
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Determine the common multiples and the least common multiple of a set of numbers
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Compare fractions by using the least common denominator
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16 Use number lines and benchmark fractions, such as 1/2, to round fractions (7-11) 554
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Add mixed numbers and solve word problems involving the addition of mixed numbers
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- Estimate products of fractions using compatible numbers and rounding (2-13)
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21 Solve problems by working backward (1-5) 425
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